Dol mo|M 20 DM HIR= =2 2 ) 7|




r-----------------------------------------------------------------------

R NN N NN NN NN NN NN SN NN SN NN SN SN SN SN SN SN SN SN BN SN SN SN SN SN BN SN BN B SN S .

ko0
ol 41




T A A8 ot

F

-
o
[

»

o0

0{o

ol

<

jo0

jo0



. &5 deotl @=0rs I

» Of| A

hello(): # hello &£ M9
print("Hello Python!")

hello() # hello &2 =
hello()

hello()
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Hello Python!
Hello Python!
Hello Python!
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hello(): # 0|52 QIAIE MOl Hello®t BHH &5t 4
print("Hello" , name)

hello2("Justin")

# Justing QIXIEtC 2 EOf hello2 &8 2=
hello2("John") # Johng O._ F2k 9 2 20 hello2 &
hello2("Mike") # MikeE QIR E
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Hello Justin
Hello John

Hello Mike
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» clef square(a): # al| M &(a*a)s Fol= e
c=a*a
C
s1 =4

2 = square(sT #s1(4)2 MBS Tote B2 s3] 2NE s20] M

print(s1, s2)

N
>
o
1IN,
=

N
(o))



T B4

=
=

9| Ol

100
NE
<0

oJ

F

O a0 =0[7} h

Gl
alll

triangle(a, h):

»

c=a*h/2
C

print(triangle(3, 4))
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square(n):
n*n

print(square(3))

o 047|A1 square &= 9|
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= aL(n*n)
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square(n):

print(square(3))
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» sum_func(n):

s =10 # =2 Tot7| flet HaE s(AE U2 022 X[A)
x in range(1, n+1): # range(1, n+1Z 1, 2, .., n7HX| Bt=2(n+12 X 2))
S = S+X # X|SIHK| A ALEl s ﬁ;\Oﬂ x= CISHA CrA| sOff A&
S # HAE s A AR E EHE

print(sum_func(10))
print(sum_func(100))



factorial(n):

fact = 1 == Tot/| &8t B fact(A A 2r= 12 X)),
x in range(1, n+1): # range(1, n+ £ 1, 2, , n7HX] EEE(n+12 X Q)
fact = fact * x # K| SR A A= 240 % = ofl factOll CFA| A&

fact # AlLHEl fact 42 =8

print(factorial(5))
print(factorial(10))
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120
3628800



» $t4=0| 2 Factorial( E2|Y)0| &0 2?

°* 18H n7tX|o o & BF &ttt A= 0= n HEL|L(Factorial)O| 2t

HEL|Ct ‘A50l2tn BE27|2 $tLCt

® 0
2 HED|Y 21 =172 =2
e 5 MEZ|Y : 51 = 1*2*3*4*5 = 120
« 10 WEZ|H : 10! = 1*2*3*4*5*6*7*8*9*10 = 3628800
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